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Instructions for the candidates :
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wiendl OMR SR U3d WR AYAT U YRAHI HAlB (10 Dl )
araey fored |

Candidate must enter his/her Question Booklet Serial No. (10
digits) in the OMR Answer Sheet.
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Candidates are required to give answers in their own words as
far as practicable.
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Figures in the right hand margin indicate full marks.
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15 minutes of extra time has been allotted for the candidates to

read the questions carefully.
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This question booklet is divided into two sections: Section-A and
Section-B.

Gus—3 H 70 IS U ©, R F b8l 35 Ul &I IR <Al
frard 81 35 U W Af¥p YTl B IR o WX UAH 35 BT
ARH- BT | UG 99 & forw 1 &f FefRa 8| g9@1 SR <9 &
o)l Sueel e T OMR-STR Uz ¥ o T W&l faded &l

Pl /Al dfc] U9 A W dx | fhdl WY YR & PR /TR

geTef /&€ /ARgA e &1 OMR STR gRA®T H YANT AT #97 &,
=TT TR UROTH =T BT |

In Section-A, there are 70 objective type questions, out of which
any 35 questions are to be answered. If more than 35 questions
are answered, then only first 35 will be evaluated. Each question
carries 1 mark. For answering these question darken the circle
with blue/black ball pen against the correct option on OMR-
Answer  Sheet provided to you. Do not use
Whitener/Liquid/Blade/Nail etc. on OMR Answer Sheet,

otherwise the result will be treated invalid.
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In Section-B, there are 20 Short answer type questions. Each
carrying 2 marks, out of which any 10 questions are to be
answered. Apart from these, there are 6 Long answer type
questions, each carrying 5 marks, out of which any 3 questions
are to be answered.

8. Pl TR & & Seldgi-id IYHROT &I YANT goiadr afsid ¢ |

Use of any electronic appliances is strictly prohibited.

Yus—3] / Section -A

(@=gf~ss 994) / Objective Type Questions

U IIT 1 ¥ 70 b ® U YT & A1 IR fdbey U v g o9+ 9

TP HEl B U §RT g4 Y WEl fdded &1 OMR SWwR—uad W fafed & |
fh=gl 35 Ul &I IR < | 35x1=35

Question Nos.- 1 to 70 have four options, out of which only one is
correct. You have to mark your selected option on the OMR Sheet. Answer
any 35 questions. 35x1 =35
1. iR dAfed Fa1 yafRid & & ?

(A) SI9 &I (B) SiH =g

(C) i sif¥reafad (D) Sh= <gersoT

What does operon model represent ?

(A) Gene function (B) Gene regulation

(C) Gene expression (D) Gene synthesis
2. fifed # 9 o9 R IHG A FAOH B YOMUIY AGT § 2

(A) TeTarSed (B) W& HIFRIHT




(C) fei® d=d (D) fAu=his

Which of the following forms endosperm after fusion with male

gamete ?
(A) Antipodals (B) Synergids
(C) Secondary nucleus (D) Oospores

SiaTed AHIRIC: UTY Sl & —

(A) Tt g | (B) wuiaiRd gg™ H

(C) & T ¥ (D) < (B) T (C)
Fossils are generally found in —

(A) Sedimentary rocks (B) Metamorphic rocks
(C) Igneous rocks (D) Both (B) and (C)
MBISTDH e fhd TR Id & ?

(A) ITAY & Fdd G & a9 (B) SIUAY & el 93 Ao

(C) $Ig=Y & rdad fg7o & |wa (D) i (B) d2m (C)
During which process Okazaki fragments are synthesized ?
(A) During continuous replication of DNA

(B) In lagging strand of DNA

(C) During discontinuous replication of DNA

(D) Both (B) and (C)

T & GEErS a9 8 & —

(A) TEZPIET B (B) ®WRiTe @



(C) A=UmIEH & (D) g1 (B) G2 (C)
Human antibodies are made of —
(A) Glycoprotein (B) Steroids

(C) Lipoprotein (D) Both (B) and (C)

8 O BIF T STl Urer 8) g ?

(A) STy (B) gram

(C) ersfgen (D) e
Which one is not a hydrophytic plant ?

(A) Acacia (B) Trapa
(C) Hydrilla (D) Nelumbo

4 RAgM | ToREEl &1 | fhae Bl § ?
(A) 44 (B) 45
(C) 46 (D) 47

Which is the number of chromosomes in Turner’s syndrome ?

(A) 44 (B) 45

(C) 46 (D) 47

3PIH U 81l & —

(A) TEIOT JATEIAT | (B) TRTSIEeH BIam 4
(C) Bfew Hersar | (D) TR AEfwRH &

Opium is obtained from —

(A) Atropa belladonna (B) Erythroxylum coca




10.

11.

12.

(C) Cannabis sativa (D) Papaver somniferum

B—fermprarge faffa giar & —

(A) X o (B) ogHe #

(C) wifrent (D) arRer—aooT ¥

B-lymphocytes are produced in —

(A) Blood (B) Thymus

(C) Lymph (D) Bone marrow
A H ATSHITSTH &1 HHAUT 7T I Al B8Rl © 2

(A) TRTSaTES (B) foreisarge

(C) HRrsarge (D) firiree

Which infective stage of Plasmodium occurs in human ?
(A) Sporozoite (B) Cryptozoite

(C) Merozoite (D) Meiocyte

Ti—foas foreifed o fead ura gar g 2

(A) TdFeRIA g B REA (B) 1o ez

(C) TUIeaRIA IZSIfor (D) E. Pleft

Ti-plasmid is obtained from which of the following ?

(A) Agrobacterium tumefaciens  (B) Bacillus subtilis

(C) Agrobacterium rhizogenes (D) E. coli

‘BIs—oi fhd BHS BT dicdAgH@ ¥ qamar § 2

(A) T (B) =



13.

14.

15.

(C) #g (D) ®ura

‘Cry-gene’ prevents which crop from bollworm ?

(A) Wheat (B) Tea
(C) Maize (D) Cotton
FAYT E © —

(A) AUG (B) GUG
(C) UAA (D) AAA

Termination codon is —
(A) AUG (B) GUG

(C) UAA (D) AAA

(A) BHIT FATHR (B) IR AT R

(C) gHI (A) @2 (B) (D) Uf—HHIdR T R
DNA double helix is —

(A) Always circular

(B) Parallel and Complementary

(C) Both (A) and (B)

(D) Antiparallel and Complementary

3USIY] & DIRDBIaed H DId—dl AFFT &l Bl © 7

(A) e (B) ST

(C) Mestenry (D) wrgeTpiftgan




16.

17.

18.

Which organelle is not present in the cytoplasm of ovum ?
(A) Ribosome (B) Centrosome

(C) Golgi body (D) Mitochondria
gt &1 fhar # &9 | UogH @) Mavadhar gl § 7

(A) 3R TF U UleiaRS (B) € UA U Uil
(C) geflepo (D) ¥ T T g I

Which enzyme is required in the process of transcription ?

(A) RNA polymerase (B) DNA polymerase
(C) Helicase (D) DNA polymerase Il
PIct Jorr uferdl & g FEdd § —

(A) FAT T (B) ST 3T

(C) ra=ryy 3T (D) 3raFoITd 3T

Wings of insects and birds are called as -

(A) Connecting organ (B) Homologous organ
(C) Vestigial organ (D) Analogous organ
Reifeca= &1 919 gar & —

(A) SToRT & CIPIERESER]

(C) ST (A) T (B) (D) ®Ruw yfead &

Relaxin is secreted by —
(A) Placenta (B) Thyroid gland

(C) Both (A) and (B) (D) Corpus luteum



19. Y IFIHAT H Hi—T1 3oft 7 ?
(A) e (B) s ey
(C) "\ (D) us
Which one is pioneer in a xerosere ?
(A) Lichen (B) Herbs

(C) Mosses (D) Tree

20. fr=ifRd # S &1 IRI-4Tg Ugud BT © 2

(A) foreber (B) aTRIfY®

(C) BrawRa (D) ST (A) @I (B)

Which of the following is a heavy-metal water pollutants ?

(A) Nickel (B) Arsenic

(C) Phosphorus (D) Both (A) and (B)
21. US| Bl & —

(A) TIRT H G ELSNEE

(C) " 149 fa= (D) < (B) T (C)

Ovulation takes place in —

(A) Placenta (B) Ovary

(C) About 14™ day (D) Both (B) and (C)
22,  URMR ISR S $al Red § ?

(A) Tord (B) SR W™

(C) oI (D) 51 u<eT



23.

24.

25.

Where is the Ranthambore National Park situated ?

(A) Gujarat (B) Uttar Pradesh
(C) Rajasthan (D) Madhya Pradesh
F9 & o7 ORI § —

(A) XX (B) AA

(C) XY (D) &I (A) der (C)

Sex chromosome of human beings are —

(A) XX (B) AA

(C) XY (D) Both (A) and (C)
eIl SR ugref & —

(A) o i (B) SUTHTT

(C) et (D) &5

The mobile genetic element is —

(A) Split gene (B) Transposon
(C) Prions (D) Intron
Rited HAoTd Bl § —

(A) JMATITST TAT YrelisT & 919 (B) AT AT SHIZAISIHST & §1
(C) IRIHRT AT Hietewel & a9 (D) 9RIgd do1 ufad & d=
Peripatus is connecting link between —

(A) Arthropoda and Annelida (B) Mollusca and Echinodermata

(C) Porifera and Coelenterata (D) Reptile and Aves

10



26. ELISIARS = JRaTad faar —
(A) Trepfis @ a1 Rigia (B) wrfaar &1 frm
(C) SuRad=T &1 Rigid (D) geraRor BT o
Hugo de Vries proposed —
(A) Theory of Natural selection (B) Law of Dominance
(C) Theory of Mutation (D) Law of Segregation

[N o N N [N

27.  ooie fReeH Hifea # feaw ura fhar Srar g ?

(A) T (B) sRRrepT o
(C) THIeR | (D) 3IIHH HdheH |

Transgenic ‘hirudin’ is obtained from which of the following?

(A) Potato (B) Brassica napus

(C) Tomato (D) Ocimum sanctum

28. UceHaTl fexereifedr fF=ifed & 9 g fS9RT &1 o= © 2

(A) sHfeaTiR (B) fee=™
(C) TIsTaIvS (D) fara dfas

Entamoeba histolytica is a pathogen of which disease in the

following?
(A) Amoebiasis (B) Tetanus
(C) Typhoid (D) Chicken pox

29. UP UMRGA & U & Tch & —

(A) STt YaTg AT WSl eAqor (B) ureu oI Sig

11



30.

31.

32.

(C) emifde derr Sifds (D) g1 (B) @I (C)
The two components of an ecosystem are —
(A) Energy flow and mineral cycle (B) Plants and animals

(C) Abiotic and Biotic (D) Both (B) and (C)

g foTaH g fderas el gIdl, ®IT dear § °
(A) TR ST (B) ST

(C) 31fFN& ST+ (D) fgf ==

Reproduction which does not involve gametic union is called ?

(A) Parasexual reproduction (B) Apomixis

(C) Parthenogenesis (D) Double fertilization

Uyl 39 YRIT ST § —

(A) Tt T® (B) &fY @rar fy
(C) @t HT | (D) et #
Eutrophication is found in —

(A) On mountains (B) in agricultural land

(C) in saline soil (D) in lakes

SISEIsios Hi H F, BACIS UG 3uTd & —
(A) 15 :1 (B) 9:6:1
(C) 9:3:3:1 (D) 1:2:1
The F, phenotypic ratio in dihybrid cross is —

(A) 15 :1 (B) 9:6:1

12



33.

34.

35.

36.

(C) 9:3:3:1 (D) 1:2:1
fe el T ST AT UIg &I S ol & ?

(A) TeHTER (B) ™

(C) seferan (D) fefrr
Roots of which plant give rise to a new plant ?
(A) Goldmohar (B) Neem

(C) Dahlia (D) Petunia

3id: HIBHHA BT 4 H F DT IR & ?

YNGIG] (B) gz
(C) i@ (D) TiR%w
Which one is an example of endomycorrhiza ?
(A) Glomus (B) Rhizobium
(C) Nostoc (D) Agaricus

AT I8 BT RIT BRI © 2

(A) arg gquoT (B) SifcTAtaTg el Hreor

(C) STef ugyor (D) @IS Yguol
What causes acid rain ?
(A) Air pollution (B) Automobile pollution

(C) Water pollution (D) Insecticide pollution
SRy 5T ¥ fred T o #
(A) BellprH (B) STefgfag

13



37.

38.

39.

(C) wHIgfig (D) wRfig
Sunken stomata is found in —
(A) Halophytes (B) Hydrophytes

(C) Mesophytes (D) Xerophytes

IRfPATCRET e BTt H A garm o ?

(A) BIEHTHIE (B) wclRrrg
(OESHISED (D) Pronfre
Archaeopteryx was evolved during which period of era ?
(A) Carboniferous (B) Cretaceous

(C) Jurassic (D) Triassic

o N

3T JIARIYUT IR<Th(d

c

gId BN Bl © —

(A) NK—®IRI®T & HIROT (B) ArsTIeifddd —T BIRGI & HRUI

(C) B—aIf¥r&T & RO (D) IUR —T PIRMHT & HRT
Rejection of organ transplant is due to —

(A) NK — cells (B) Cytotoxic T-cells

(C) B-cells (D) Suppressor T-cells

rifed fhd URoldl ol § dier SIS T Wi WROR AET H Ui
SISIR-

(A) GTE=T =T (B) triel

(C) It U (DREEMEEN

14



40.

41.

42.

Which transgenic plant is rich in p—carotene and ferritin in the

following ?
(A) Golden rice (B) Pomato
(C) BT-cotton (D) Flavr savr

SIMICTSU—HIAICISY TR Fad Ugael b= gt faar ?
(A) ST (B) ST

(C) ge (D) W e ard)
‘Genotype-Phenotype’ concept was first proposed by

(A) Bateson (B) Johannsen

(C) Punnet (D) Sutton and Boveri

\ [aN o C J
RJld dh D QIXTH, dhlJ UIRddd gdH eldl g —

(A) HRIH JgfeaH 4 (B) TSHERH H

(C) Rrgras o (D) wramgaH

During menstrual cycle, the cyclic changes take place in —
(A) Corpus luteum (B) Endometrium

(C) Perimetrium (D) Myometrium

oI gRT faer faveyor fvar mar & 2

(A) 3T e (B) ufaita

(C) eferanfes a (D) =TT (A) T2 (B)
Which one is analysed by amniocentesis ?

(A) Amino acids (B) Amnion

15



43.

44.

45.

46.

(C) Amniotic fluid (D) Both (A) and (B)
gad BT b 811 © —

(A) gacTsH gR (B) GeIsH ERT

(C) Wirdred g (D) Tae—HIISH §RT
Heart is developed from —

(A) Ectoderm (B) Endoderm

(C) Mesoderm (D) Ecto-mesoderm

R = # 9 g 99 @ U gar g ?

(A) PIHT AT (B) |reiH ARMA

(C) AT < (D) fRr=sfier sffwrafmfera
Saffron is obtained from which plant ?

(A) Crocus sativus (B) Solanum nigrum

(C) Curcuma longa (D) Zingiber officinalis

o1 gRT aTeT &1 faviyar g —

(A) UBTI HIAYUT (B) ATSEIo Rty
(C) faua (D) RTESIaRoT
Characteristic of blue-green algae is —

(A) Photosynthesis (B) Nitrogen fixation
(C) Fermentation (D) Denitrification

ST @l 3G o1 Bl @iel e fbar ?
(A) BreFat (B) TR

16



47.

48.

49.

(C) drsat (D) Fraprea

Who discovered the molecular structure of Insulin ?

(A) Kornberg (B) Sanger
(C) Beadle (D) Nicholson
URd TuTd & —

(A) IUD (B) PID

(C) MTP (D) STD

Induced abortion is —
(A) IUD (B) PID
(C) MTP (D) STD

N o o

gfaoifde Wb iR = & e urg grar & ?

(A) SfraTo] 3 (B) Srarer ¥

(C) ATS® I T | (D) ®ad |

Antibiotic cephalosporin is obtained from which one in the following?
(A) Bacterium (B) Algae

(C) Mycoplasma (D) Fungus

ORI STTgadToll 81 8 —

(A) sqEred (B) "rerfAe SuHTer

(C) e Soiraan (D) Ty ST

Parasitic angiosperms are -

(A) Decomposers (B) Primary consumers

17



50.

51.

52.

(C) Secondary consumers (D) Tertiary consumers

el IR gewdrel Wel Bl Bl Sl & —
(A) ¥aifas (B) <Iaviafig
(C) BrIRy ey (B) @FF (A) @I (C)

Plants growing on rocks are called as —

(A) Lithophytes (B) Halophytes

(C) Sciophytes (D) Both (A) and (C)

A1l I<Ih, JiHH I<qDb qA Boell § BAT 84T [hd! faemar g 7
(A) STefTgfig (B) wefirg

(C) wIgfig (D) siferarey

Reduction in vascular tissue, mechanical tissue and -cuticle is
characteristic feature of whom ?

(A) Hydrophytes (B) Xerophytes

(C) Mesophytes (D) Epiphytes

4g & | DI A1 UIET gy S« g 2

(A) srepriRra (B) urgTH

(C) RTSSIBRT (D) eger Hfew

Which plant is found in mangrove zone ?

(A) Acacia (B) Pinus

(C) Rhizophora (D) Tectona grandis

18



53.

54.

55.

G O UHh SigHel der ® Rrad fefia SiF e Sia deermor @
ferg grem & ?

(A) faerfas—g (B) faerf—d

(C) faerfa—=h (D) 3iFRT—3

Golden rice is a GMO plant in which the incorporated gene is meant

for biosynthesis of —

(A) Vitamin-A (B) Vitamin-B

(C) Vitamin-C (D) Omega-3

ffeRad § & @9 Siiaged Aad= &I 91T a1 URT &l & ?
(A) I1AA TIT BIZACH

(B) IAA TT fSTedvel=a

(C) ufeligelielle Tellgdhic T2 HIfSTH A1Sge

(D) AIfSTH FeiRISS dAT UICREA deRISS

Which of the following enhances or induces fusion of protoplast ?
(A) IAA and kinetin

(B) IAA and gibberellins

(C) Polyethylene glycol and sodium nitrate

(D) Sodium chloride and potassium chloride

3t fwifa § I fdd HRT F99 g8 T °?

(A) TFTfdeTST (B) gerare=

(C) veryfdreryst (D) Sitpsira

19



56.

57.

58.

Advancement in genetic engineering has been possible due to

whom?
(A) Exonucleases (B) Transposons
(C) Endonucleases (D) Oncogenes

feeTd gRT S~ Ay geg wu ¥ b goifad oxar & ?

(A) Bag el #iuh (B) zaa <

(C) Wfe® wraueh (D) I (A) Torr (B)
Toxin produced by tetanus mainly affects —

(A) Cardiac muscles (B) Respiratory system
(C) Voluntary muscles (D) Both (A) and (B)
fFreforiad & | @19 ggoielld 9ol T8l § 7

(A) T (B) X1g,

(C) et (D) FeH

Which of the following is not a fresh water fish ?

(A) Catla (B) Rohu
(C) Mrigal (D) Salmon
SATEY TRl ® —

(A) TB8 B (B) Nt a0
(C) s & (D) weft &

Lohi is a breed of —

(A) Goat (B) Geese

20



59.

60.

61.

62.

(C) Sheep (D) Fowl
AT gad @ik RIeR U & S8 8 &1 SRl 8§ —

INEISIE (B) AR SIS

(C) ®Ied AFRIHISS (D) BTSSINH AchlsS
Decolouration of lead and silver paints is caused due to —

(A) Ozone (O3) (B) Sulphur dioxide (SO,)
(C) Carbon monoxide (CO) (D) Hydrogen sulphide (H,S)
Hgoidl § BOD &1 wWR 399 31fere 8l 81 =AMty —

(A) 5 ppm (B) 10 ppm

(C) 25 ppm (D) 50 ppm

BOD level in fresh water should not exceed beyond —

(A) 5 ppm (B) 10 ppm

(C) 25 ppm (D) 50 ppm

|ATSd URTg Asgiod ReiaRor Siam] & —

(A) ATSSEIPITh Y (B) zofaaA

(C) SrEgraHHTE (D) srggrdac

The most famous symbiotic nitrogen fixing bacterium is —
(A) Nitrosococcus (B) Rhizobium

(C) Nitrosomonas (D) Nitrobacter

HIV 9T &rdl & —

(A) B—aIR7dT W) (B) AEEITR—T SIRHT W

21



63.

64.

(C) IR WR (D) a0 wicaed W
HIV attacks on —
(A) B-cells (B) Helper T-cells

(C) RBCs (D) Blood Platelets

qfgeTell eRT SUART BT SIH dTell Aikas T4 fFRIge Mferat s fFra=or &

& HGE Pl & 7
(A\) 3TUST] DI AR
(B) JvSIRT 91T R

(C) IPIY] BT ARG

(D) TERIY] AT 3TUCIY] & 414 R AT B

How oral contraception pills used by females help in birth control ?
(A) Killing ova

(B) Inhibiting ovulation

(C) Killing sperms

(D) Forming barrier between sperm and ovum

TSR gRT f[deraeiie qor § Fr=ifdd | | fddr uar 81 avmn

ST FepdT ?
(A) 4o1 BT fofir (B) Tl hee Rvgm
(C) sre=q RiogH (D) diferar

Which of the following cannot be detected in a developing foetus by

amniocentesis ?

22



65.

66.

67.

(A) Sex of the foetus (B) Klinefelter syndrome

(C) Down’s syndrome (D) Jaundice

Nif ST=9 |dfdd & —

(A) SHBIBIE A (B) gLiftbeper &
(C) rsgo Reiaor | (D) fawi=aRor &

Nif-genes are associated with —
(A) Ammonification (B) Nitrification
(C) Nitrogen fixation (D) Deammination

aﬂi—crf?l‘cﬁ' T § ufdeed USTSH & SUART fhar T 9ohdT & —

(A) Badt gbRAcd DNA & fog (B) @da sirae] DNA @& forg
(C) ®aet faury & DNA & forg (D) &<t ¥t DNA Tas & foru

In genetic engineering, restriction enzymes can be used for —

(A) Eukaryotic DNA only (B) Bacterial DNA only

(C) Viral DNA only (D) Any DNA fragment
FHEE U B afrdl B faeivdr 8 —

(A) Tfrsfi @1 v wd (B) fFrarefl ufiefig R &9 3|
(C) wRY Bee (D) T (B) @er (C)

The feature of the xerophytic plant leaves are —
(A) Single layer of epidermis
(B) Sunken stomata on lower epidermis

(C) Heavy cuticle

23



68.

69.

70.

(D) Both (B) and (C)

U Sl § UTeY Wdd dgarId H S99 S ® —

(A) formifes o= & (B) Mbsal oA

(C) fereeRe S # (D) afere &3 |

In a lake, phytoplanktons grow abundantly in —

(A) Limnetic zone (B) Profundal zone

(C) Littoral zone (D) Benthic region

“gHG HH FHR TE B TT BUA § —

(A) ywrfaar & 4 &t (B) argfe® Myed & | &1
(C) grahRvl & R ot (D) Wda Ahdd & 199 &
“Gametes are never hybrid”, it is statement of -

(A) Law of Dominance

(B) Law of Random fertilization

(C) Law of Segregation

(D) Law of independent assortment

= # A 3 a1 v 31 @ BAS U @ <@t 2

(A) AaBb X AaBb (B) Aabb X Aabb

(C) AaBb X aabb (D) aabb X AABb

Which one in the following crosses shows phenotypic ratio of 3:1 ?
(A) AaBb X AaBb (B) Aabb X Aabb

(C) AaBb X aabb (D) aabb X AABb
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Yvs—9q / Section-B

oY 3TN 99 / Short Answer Type Questions

U AT 1 W 20 O Y SINF U © | g8 ¥ bl 10 Ul BT SR T |

Ud ged & oy 2 i FeiiRd 2 | 10x2=20

Question nos. 1 to 20 are Short Answer Type questions. Answer any 10

questions. Each question carries 2 marks. 10x2=20

1.

STell dier dl ISTER0T Afed aRATa & | 2
Define hydrophytic plants with the help of suitable example.
GTEl STl qAT W T | R e I | 2
Differentiate between Food chain and Food-web.

TORIAT SaRad &l IRWINT & | 2

Define chromosomal aberration.
YERIV[STA T e H A | 2

Describe spermatogenesis in brief.

8—dsch JATITAISI YUThIY BT Al o T | 2
Show the well labelled diagram of an angiospermic 8-nucleate
embryo-sac.

UTpfad T W Herd H ford | 2
Write in brief on natural selection.

urRRerfare fafderdr &1 afRvmia & | 2

Define ecological diversity.
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10.

11.

12.

13.

14.

15.

16.

IR UA U GlelFNel USligd &R Uah femol ford | 2
Write a note on RNA polymerase enzyme.

AoTh—dHel T fIge—ael & IR H adm | 2
Explain about connecting link and missing link.

J—LIYAY TAT Se—SIGY H AR W BN | 2
Distinguish between B-DNA and Z-DNA.

UR—URTITO] DT FETERY] Afed TRUTT X | 2
Define cross-pollination with the help of suitable example.
RG4S & IR H g | 2
Explain about vasectomy.

el eIl 3fiaRe e § 3k W & | 2
Differentiate between external and internal fertilization.

RO forsd I w7 931 & 7 2

What do you mean by selectable marker ?

f=ifera faaTRAl & Ao\ &7 919 9dTy ¢ 2
(A) & =T (B) BrsaiRar
(C) veH (D) I

Name the causal organism of the following diseases.

(A) Tuberculosis (B) Filaria

(C) AIDS (D) Ring worm

YD ST I &7 FHA & ? S8R0 Hied gy | 2
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What do you understand by parthenogenesis ? Explain with
example.
17.  drdell fAeelyor | @7 |HSI § ? I8 dd IuIril 7§ 7 2

What do you understand by Pedigree analysis ? How is it useful?

18. ORIl Sigall & BIM®HRS HUHTal &I quid o | 2

Describe about the hazards of transgenic animals.

19. I e fgdiae a-fier of 1 & 99 o | 2
Name the primary and secondary lymphoid organs.

20. TRA & fhol IR T S BT A1H ga | 2
Name any four national park of India.

9" 9a9a 93T (Long Answer Type Questions)

Ue T 21 W 26 A% < IONg U 2| foel 3 Ul & SR S| U-E D

forg 5 3fw iR €1 SR A& dd 120 oIl & 8 =Ry | 3x5=15

Question nos. 21 to 26 are Long Answer Type questions. Answer any 3

questions. Each question carries 5 marks. Give your answer in about 120

words. 3x5=15

2. WA ¥ AU RN FHI & 2 IR JAred H WA by

AEI®H 87 1+4=5
What do you mean by methanogens ? How do methanogens
help in producing biogas ?

22. =it &1 guie BN — 2VoX2=5
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23.

24.

25.

26.

(A) dteii &7 UguoT fAgFr § A |

(B) ST ®IH g&ed

Describe the following :-

(A) Importance of plants in pollution control

(B) Dairy farm management.

g drerRl 9 Y a1 §Herd 8 ° & <) iy R uep fewolt fored |

14+-4=5

What do you understand by Biopesticide ? Write a note on BT-

toxin.

ferforRad uei @ SR < (2% x 2 = 5)

(A) S8 RIUgH Tl dasahecy RIVEH # 3fdR W< & |

(B) JM® ST TAT YUNGHT H R WL P |

Answer the following questions :

(A) Distinguish between Down’s syndrome and Kilinefelter’s
syndrome.

(B) Distinguish between the gametogenesis and embryogenesis.

feRT—Ag el = eI &I AIGTERY AHY | 5
Describe sex-linked inheritance with the help of suitable

examples.
frifea o feuolt forg — (2%2x2=5)
(A) oIt
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(B) vietsh#e
Write short notes on the following :-
(A) Ovulation

(B) Hydrosere
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